S|

2215}
1. o& 292 749 o]5 & X
Ae Amst Aot A O_A
ff% steA udd A @@®
a 0 B Y
©O=>0=0=8
OB ©==0
® © O =0=0
@ O ®=>0=
®0=>0=0=0
2. &I844 PQ = AR 5
AB 9] ZolFE Aot}
= % Al F2 A2
A M B

@© AP =BP
@ AM =BM
® AQ=BQ
@ AB=PQ

® ZAMP = /BMP = 90°

3.

ofe} 1YL AE AB o] 4 Aol FEAL FE Aol

o}, 2% A HrEA Ugsha?
©
Q ©
C
A M B
D
ORCIEEG) @ ©®00 ®Be0o
@ OO0 ® OO
ohg 2L D401 9ol A FE 3 A P 5 A
Lol BAT 4L Fmoks FHolth Fw FHS
SAUE A, [ ot EolZ 75 E Ao
2 UgdshH?
O.D S
s
“1E ®
OB
®
A “IC L

R I
e[t

060,60 © 06,0
® 6006 ® 0,660
® 0,060,060




M |
A To
o A
< = % ™ 7B,
© o qr_o.L_ =3
ol o
J H GO~
@) ﬂol NI O_E m
o = M e W 4 Wm !
> ol W K o
p S < ~ o 7A .
3 U ~ N nox a4 o %
Qo W s T =T
SZ % o0 R G+ B e B
N o e M T oy B KoM T
R T X T T 3 2
ol if T o oy TN < 7A A <
TR i © B SR HE B
3t “y  zziEe  Idd
op T EK M o o ww M o7 oT ol o+
wo e P N O R = B
. = ©@ @ © @ © o% M.. o
0 ol
o .
T <
]
o o ofu —
Bl & 0E BT © @
el o) !
PRl P on o0 kEr xw 0 ©
el Bk w 2w D ¢ Q@
N - % T .o ™ o @ O
e e N X 117__m & mﬂﬁ ol @ @
RN I wo LTI a ® ®
EC ! Gl BN R T oo Q
<G5 oM o o < 20 @ <1 n
Y dmoe o gdH A Wowouoo
el B J_JRzégﬂ I O
poB <H o o % & o ™ @ © O~ s
ol ﬂmO Kjo No =y ®=E RT E| M? n 5 <A N @. @ @_ TG o £ NI
I R A R o o o ) ® @ T T o W T
ZT 2w oe = ~ W g e @ @® @ = 5owm T oL
RA mH RS R R w T o & oo ® 0 @ = do o Uo ol T
o el R R ST I ST LA A T noozZn % o
ol NGRS T © O Snod <Ko=
e w_.rﬁ © Q 0 ® e b IS O Q s T et -
N o o
. e @ M_,_ mﬂ m_' R m_ﬂ_
1S © d_m Yoo T
G
©




10. & 19L& AB 9 £7o P 13. o] T F A A, B o ol2k A=)t 22 A
5248 Zwet Holck. AP o Jztgo] Seo gl AL BT 9 A1}
st drd s [ L K
PAS. \ O ) -

Q)
@ oA @ 17K ® 27K
@ 374 ® 47
the 2ol A PQ & A1 AB o] SHo|SRAS 2
w3k Aol The & A gL ALY
P
14. & 5 A0 =3 gl Ao s AEd 4 gl
A M B o0
AT
Q
® 30°
© AP =AQ FolQ 23k 2717} 2 7
@ AM = BM ® AR $2o]5EA
1 —
® AM = 3 PQ @ 140°
@ A ME A PN ABe] W 549 wolct ® 90°
® ZAMP = ZBMP = 90°
15. b 1YL AB 9] 40|58 o
L 25 A o = o
. ohe DL ZXOY O ol5RAS A ol of | T AR AR TS
o =z O o o 1] %% 714\—10:(7
=% w4 g2 AX? -
A M B
© AM = BM
I Q
@ AM = 2PM
® PM =QM
@® OA =0B @ AQ=1BQ
@ AP =BP ® ABLPQ
® £XO0Y =60° o|¥ 20° & #e & 4 Qlh
@ /XOP = ZYOP
1
® /XOP = 54X0Y




